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Guess Paper – 2007
Class – XII

Mathematics
Section - A
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 Hence find 
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2. Prove 
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   =   ( x – y ) ( y – z ) ( z – x  ) ( x + y + z ) using properties.

3    A, B, C shoot to hit a target If the the probability of A, B, C hitting the

      target are respectively 
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 What is the probability that the target

      is hit by at least 2 persons.  

4.   Solve:   
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5..  A bag contain 4 white and 6 black balls. Three are drawn one after the other without  

      replacement. Find the probability distribution of the number of white balls obtained.
      Find the differential equation of the family of curves given by x
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6.  Solve:  
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.    6.    Solve:   
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7.  Evaluate 
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  OR    :    
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8.   
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     9.    In Boolean algebra prove: 
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  OR    Examine the validity  
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 EMBED Equation.3  [image: image19.wmf]q

~

®

    S
[image: image20.wmf]3

: p   
[image: image21.wmf]r

®

  
S : r 
10.  
[image: image22.wmf])

1

sin(

2

3

1

lim

2

2

-

+

-

+

-

®

x

x

x

x

x

x

   11.   Differentiate w.r.t.x 
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  OR  .
 If  y  =  sin 
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  ,    show that  
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12.  Find the intervals in which  f ( x )  =  x4 – 8 x3 + 22 x2 – 24 x + 2 is increasing or decreasing .
13.  Differentiate the following using first principle   
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15.  Evaluate: 
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16.  Find the value of x,y,z of the linear equation by matrix inverse method.

       x  + y – z = 1
x – y – z = -1 
and   3 x + y – 2 z =  3

17. Prove that the area of a right angled triangle of given hypotenuse is maximum when the triangle 

      is isosceles.  OR A  figure  consist  of a semi-circle   with  a  rectangle  on its  diameter .  Given  the

      perimeter of the figure ,  find  its  dimensions   in  order  that  the  area  may  be  maximum.  
18.Find the area of  the triangle whose vertices given by  ( 1 , 3 ) , (3 , 5 ) and ( 6 , 2 ) using 

      integration.
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